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IpTimerFunc As Long) As Long

3 Public Fubon_Mananger_obj As Object
4 Dim hTimer

B Dim BarNo As Integer, SheetsRow As Integer, Initial_Flag As Integer

1 Private Declare Function SetTimer Lib "user32" (ByVal hwnd As Long, ByVal nIDEvent As Long, ByVal uElapse As Long, ByVal

2 Private Declare Function KillTimer Lib "user32" (ByVal hWnd As Long, ByVal nIDEvent As Long) As Long




——
Dim FMA_P As Integer, SMA_P As Integer, RSI_P As Integer, RSI_B As Single, RSI_S As Single

Dim Min_Bar(300, 17) As Single
‘No, Time, O, H, L. C, V, CV, FMA, SMA, Decil, CloseChange, RSI, Deci2, FinalD, Return, Accumu. Return

© 00 ~N o

Dim O As Single, H As Single, L As Single, C As Single, V As Single, FMA As Single, SMA As Single
10 Dim PreTickTime As Single

11 Dim Position As Integer

12 ‘W DDE p # 2 % % sife
13 Sub Close_DDE_Auto_Order()

14 On Error Resume Next
15 Call KillTimer(0, hTimer)
16 Exit Sub

17 ErrorHandler:
18 MsgBox Err.Description
19 End Sub

20 '¥x#> DDE p # 2 & sife i
21 Sub Start_ DDE_Auto_Order()

22 Initial_Flag=0

23 Position = 0

24 On Error Resume Next

25 hTimer = SetTimer(0, 0, 1 * 1000, AddressOf Main) ‘& = % % 4}
26 Exit Sub

27 ErrorHandler:
28 MsgBox Err.Description
29 End Sub

30 Private Sub Main()

31 Dim tmp_RGB As Object

32 Dim i As Integer

33 Dim tempTickTime As String, tmpTickTime As String, TickTime As Single

34 Dim TickPrice As Single, TickCVolume As Single

35 On Error Resume Next

36 '=======}* b4 jc APl 3% i

37 tmpTickTime = Sheets("Quote_Data").Cells(3, 3)

38 tmpTickTimel = Mid(tmpTickTime, 1, 2) + Mid(tmpTickTime, 4, 2) + Mid(tmpTickTime, 7, 2) 'F " ;¢ 2 08:45:00
39 TickTime = Int(Val(tmpTickTimel) / 100)

40 TickPrice = Sheets("Quote_Data").Cells(3, 4) R
41 TickCVolume = Sheets("Quote_Data").Cells(3, 5) RHEE
42 A AR R



43 If Initial_Flag = 0 Then

44 BarNo =1 2% T KBar %%.4~ &

45 SheetsRow =1 "R RN A B

46 Position = Sheets("K_Bar").Cells(2, 18) B AR B RN

47 EErRiE =

48 FMA P=6 Sk R Peid A R

49 SMA_P=10 RS ST RS

50 RSI_P=8 R LRSI 4w & % 8

51 RSI_B =0.4 % ZRSH4p - § e dp i

52 RSI_S=0.6 R RS N

53 PreTickTime = TickTime

54 Min_Bar(BarNo, 1) = BarNo 2R T K R

55 Min_Bar(BarNo, 2) = TickTime "% KRR

56 Min_Bar(BarNo, 3) = TickPrice KEMATRIREG

57 Min_Bar(BarNo, 4) = TickPrice KEMRLE E B

58 Min_Bar(BarNo, 5) = TickPrice BRE AR A B

59 Min_Bar(BarNo, 6) = TickPrice KEMAR A E R

60 Min_Bar(BarNo, 7) = TickCVolume HEMARKRE S FE

61 Min_Bar(BarNo, 8) = TickCVolume KT ARKERAFE

62 Initial_Flag = 1 SR ER A AR E

63 End If

64 WEEAL - A KR B KAT 1L

65 If PreTickTime = TickTime Then FEL 5 - AP 2ZHF
66 If TickPrice > Min_Bar(BarNo, 4) Then Min_Bar(BarNo, 4) = TickPrice ' # #7%

67 If TickPrice < Min_Bar(BarNo, 5) Then Min_Bar(BarNo, 5) = TickPrice '& # #7i4 i

68 Min_Bar(BarNo, 6) = TickPrice A A AT

69 Min_Bar(BarNo, 8) = TickCVolume AAFAFE
70 Min_Bar(BarNo, 7) = Min_Bar(BarNo, 8) - Min_Bar(BarNo-1,8)'# # #7% % E2 (B A F T A REZEF X E)
71 Else FEEH G- Adap 2 HR

72 PreTickTime = TickTime "LATK SpER

73 SheetsRow = SheetsRow + 1 LRI ML E

74 LT B L B e R & 5> Min_Bar 'L 7 ¢ ’;F%W%] MNP o FAH AR TS M“f
75 Sheets("K_Bar").Cells(SheetsRow, 1) = Min_Bar(BarNo, 1) '#& 11 K 2 %55

76 Sheets("K_Bar").Cells(SheetsRow, 2) = Min_Bar(BarNo, 2) '# 41 K %t p &

77 Sheets("K_Bar").Cells(SheetsRow, 3) = Min_Bar(BarNo, 7) :?is?] KM= E

78 Sheets("K_Bar").Cells(SheetsRow, 4) = Min_Bar(BarNo, 3) x%is?] P K S

79 Sheets("K_Bar").Cells(SheetsRow, 5) = Min_Bar(BarNo, 4) '# ! K &% % #§

80 Sheets("K_Bar").Cells(SheetsRow, 6) = Min_Bar(BarNo, 5) :?is?] KA L

81 Sheets("K_Bar").Cells(SheetsRow, 7) = Min_Bar(BarNo, 6) :?is?] I K ST

82 Sheets("K_Bar").Cells(SheetsRow, 8) = Min_Bar(BarNo, 8) '# ! K #t % # &
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Dim Sum As Single
If BarNo >= 11 Then
Sum =0
For i = BarNo - FMA_P + 1 To BarNo
Sum = Sum + Min_Bar(i, 6)
Next i
Min_Bar(BarNo, 9) = Sum / FMA_P
Sum =0
For i = BarNo - SMA_P + 1 To BarNo
Sum = Sum + Min_Bar(i, 6)
Next i
Min_Bar(BarNo, 10) = Sum / SMA_P
IfBarNo>=11Then'%% % 12 4% 2 % > #m 7P HBitp 1 A KMAFHLFP » FE5 - 53 2
If (Min_Bar(BarNo - 1, 9) < Min_Bar(BarNo - 1, 10)) And (Min_Bar(BarNo, 9) >= Min_Bar(BarNo, 10)) Then
E oA 2R %
Min_Bar(BarNo, 11) = 1
End If
If (Min_Bar(BarNo - 1, 9) > Min_Bar(BarNo - 1, 10)) And (Min_Bar(BarNo, 9) <= Min_Bar(BarNo - 1, 10)) Then

R

\

| g5
Min_Bar(BarNo, 11) = -1
End If
End If
End If

Dim RSI_Up_Average As Single, RSI_Up_Count As Integer, RSI_Down_Average As Single, RSI_Down_Count As Integer
If BarNo > 1 Then Min_Bar(BarNo, 12) = Min_Bar(BarNo, 6) - Min_Bar(BarNo - 1, 6) "7k i 3+ ¥
If BarNo >= 11 Then
RSI_Up_Average = 0: RSI_Up_Count = 0: RSI_Down_Average = 0: RSI_Down_Count =0
For i = BarNo - RSI_P + 1 To BarNo
If Min_Bar(i, 12) > 0 Then
RSI_Up_Average = RSI_Up_Average + Min_Bar(i, 12)
RSI_Up_Count = RSI_Up_Count + 1
End If
If Min_Bar(i, 12) <0 Then
RSI_Down_Average = RSI_Down_Average + Min_Bar(i, 12)
RSI_Down_Count = RSI_Down_Count + 1
End If




123 Next i

124 If RSI_Up_Count > 0 Then RSI_Up_Average = RSI_Up_Average / RSI_Up_Count Else RSI_Up_Average = 0

125 2L BT 0k by

126 If RSI_Down_Count >0 Then RSI_Down_Average = Abs(RSI_Down_Average / RSI_Down_Count) Else RSI_Down_Average = 0
127 O

128 If (RSI_Up_Average + RSI_Down_Average) > 0 Then '3 & RSI 45 1% (&

129 Min_Bar(BarNo, 13) = RSI_Up_Average / (RSI_Up_Average + RSI_Down_Average)

130 Else

131 Min_Bar(BarNo, 13) =0

132 End If

133 If Min_Bar(BarNo, 13) <= RSI_B Then Min_Bar(BarNo, 14) = 1 'RSI 45 1% 1% %

134 If Min_Bar(BarNo, 13) >= RSI_S Then Min_Bar(BarNo, 14) = -1 ‘RSl 4 #i72

135 End If

136 UEE R R R 2 MAJ iR RS R & AR

137 Min_Bar(BarNo, 16) = Position * (Min_Bar(BarNo, 6) - Min_Bar(BarNo, 3)) 'f5 Bar = ¥ % & 4 Bar 4f & (3K % Jc=4% )
138 Min_Bar(BarNo, 17) = Min_Bar(BarNo - 1, 16) + Min_Bar(BarNo, 16) EREAFHEE

139 If Position < 1 And (Min_Bar(BarNo, 11) = 1 And Min_Bar(BarNo, 14) = 1) Then "% 23u4p 1% 5 "¢ "RSI 45 #& 1% 5 P iF 5
140 Min_Bar(BarNo, 15) = 1

141 '=====v U IE ST P lrc o i# # APl i% H ========

142 Sheets("K_Bar").Cells(SheetsRow, 1).Interior.Color = RGB(255, 255, 187) "B 38 ¢ &7

143 If Position = 0 Then

144 Call eFOrder(Sheets("DDE_Data").Cells(2, 1).Value, "B", "1") '4p § ** »4p# % § § & 1 v APl £ §
145 Position = 1: Sheets("K_Bar").Cells(2, 18) = Position

146 End If

147 If Position = -1 Then

148 Call eFOrder(Sheets("DDE_Data").Cells(2, 1).Value, "B", "2") '4p § ** »4p# # § § 22 v APl £ ¥
149 Position = 1: Sheets("K_Bar").Cells(2, 18) = Position

150 End If

151 End If

152 If Position > -1 And (Min_Bar(BarNo, 11) = -1 Or Min_Bar(BarNo, 14)) = -1 Then

153 Min_Bar(BarNo, 15) = -1

154 'S====F U E O R iT o P lrc i# # APl i% H ========

155 Sheets("K_Bar").Cells(SheetsRow, 1).Interior.Color = RGB(187, 255, 255) '¢ 37 ¢ &7

156 If Position = 0 Then

157 Call eFOrder(Sheets("DDE_Data").Cells(2, 1).Value, "S", "1") 'tp % ** 2 4p 7 i § &1 1 = APl i# ¥
158 Position = -1: Sheets("K_Bar").Cells(2, 18) = Position

159 End If

160 If Position = 1 Then

161 Call eFOrder(Sheets("DDE_Data").Cells(2, 1).Value, "S", "2")'4p § ** = 4a 883 § ¢ &1 1 = APl ¥ ¥
162 Position = -1: Sheets("K_Bar").Cells(2, 18) = Position




163 End If

164 End If

165 |

166 IR e R h AR 2 R SR T AR P R ST #Ig
167 Sheets("K_Bar").Cells(SheetsRow, 9) = Format(Min_Bar(BarNo, 9), "####0.0")

168 Sheets("K_Bar").Cells(SheetsRow, 10) = Format(Min_Bar(BarNo, 10), "####0.0")

169 Sheets("K_Bar").Cells(SheetsRow, 11) = Min_Bar(BarNo, 11)

170 Sheets("K_Bar").Cells(SheetsRow, 12) = Min_Bar(BarNo, 12)

171 Sheets("K_Bar").Cells(SheetsRow, 13) = Format(Min_Bar(BarNo, 13), "0.000")

172 Sheets("K_Bar").Cells(SheetsRow, 14) = Min_Bar(BarNo, 14)

173 Sheets("K_Bar").Cells(SheetsRow, 15) = Min_Bar(BarNo, 15)

174 Sheets("K_Bar").Cells(SheetsRow, 16) = Min_Bar(BarNo, 16)

175 Sheets("K_Bar").Cells(SheetsRow, 17) = Min_Bar(BarNo, 17)

176 BT - K&y

177 BarNo = BarNo + 1 2T T - K&
178 Min_Bar(BarNo, 1) = BarNo 2K K AR5

179 Min_Bar(BarNo, 2) = TickTime "% K AR

180 Min_Bar(BarNo, 3) = TickPrice AL SRR
181 Min_Bar(BarNo, 4) = TickPrice AR AR
182 Min_Bar(BarNo, 5) = TickPrice RERER IS SN
183 Min_Bar(BarNo, 6) = TickPrice R N F S
184 Min_Bar(BarNo, 8) = TickCVolume RABEEAE
185 Min_Bar(BarNo, 7) = Min_Bar(BarNo, 8) - Min_Bar(BarNo-1,8) "™ AfFE LR H#3 2 &
186 End If

187 | End Sub

188
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